Laampron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4630

PykosaTku ynpaeneHus

Ne ApTukyn HavnmeHoBaHve K-Bo ApTukyn HaumeHoBaHve K-Bo
1 20340060 0O60104Ka pabouelt pyKoATKU 1 14 20240010 duKcaTop Tpocos 1
2 70540082 Pbiuar BkAtoYeHMA xoaa 1 15 20040050 Kopnyc raiiku 2
3 70550070 Pbluar BbIkAOYEHUA aBUraTens 1 16 60250080 LTt 6x20 2
4 70500150 Pabouas pyKosTKa BEPXHAA NONOBUHA 1 17 60150020 aiika caMoKOHTpALancA 8
5 70810040 Tpoc xoza 1 18 60190140 Laiba 4
6 70780080 Tpoc BbIKNOYEHUA ABUraTena 1 19 60060420 Bont M8x16 2
7 70050120 KpoHwTeiH KpenieHums Tpocos 1 20 60040090 Bont M8x30 2
8 60060590 Bont M6X30 1 21 70220020 BonT py4ku- dpukcatopa 2
9 70230090 KpoHwTeiH KpenieHus WHypa ctapTepa 1 22 20030010 dukcatop 2
10 60130020 laiika M6 1 23 20720010 laiika 2
11 70520210 Pabouas pyKoATKa HUXKHASA NOM0BUHA 1 24 20160120 KpbilwKa-3arnywKka oTceka TpaBocbopHuka 1
12 20580010 PyuKa- puKcaTop BepxHei pyKoaTKM 2 25 60150080 aitka M6 3
13 60140080 laiika M8 4 26

KommeHTapum K getanmposke: XXXXXXXX/X-XXX-XXX-XX (HoBbI/ apTuKyA/cTapblii apTMKy)




Laampron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4630

3agHue koneca. Pegyktop

ApTukyn HanmeHoBaHve K-Bo ApTukyn HanmeHoBaHve K-Bo
1 70860210 PenykTop npusoga Konec 1 12 60300030 WnanHT 1,525 4
2 60410180 Mpy**nHa 1 13 20460010 BTynka 1
3 60320210 PemeHb npusoga 1 14 60160010 laitka M12x1,25 1
4 20270010 HabangaluHuK pbluara perynatopa BbiCoTbl 1 15 20590020 3arnywka 1
5 20880080 Koneco 3agHee 10" 2 16 60240060 LWanba 12 6
6 20620060/ Konnak 3agHero Koneca 2 17 60200310 Lariba 2
D2-3D-303-000

7 60150090 WnanHT 4 18 60290060 LLTndT WwectepHmn 6
8 20610030 KpbilwKa BHYTpeHHAA Koneca 2 19 70300160 LLlectepHa npuBoAa NpaBoro Koneca 1
9 60010110 NoawnnHKK Koneca 4 20 60200310 LWaiba 2
10 70850540 Ocb 3agHuUX Konec 1 21 70300150 LLlectepHa npuBoAaa neBoro Koseca 1
11 20430030 Bknagbiw 3agHero koneca 2 22




Laampron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4630

Kopnyc.

Ne ApTukyn HaunmeHoBaHve K-Bo Ne ApTukyn HaunmeHoBaHve K-Bo
1 70740650 Kopnyc (aeka) 1 14 70250110 CeKTOp 3y64aThblil perynatopa BbICOTbI 1
2 70070300 KpoHwTeH npasbiit 1 15 60040020 Bont M8x15 2
3 70070290 KpoHwWTeH nesbii 1 16 60060930 Bont M8x14 4
4 60300030 WnanHT 1,525 2 17 70030060 OcCb KpbILWKK 1
5 20750070 Haknapgka 1 18 70290070 Haknapgka kpenneHua ocv Konec nesas 1
6 70030050 Ocb KpbILWKK OTCeKa TPaBOC6OPHUKA 1 19 60170400 Bont M6x10 6
7 60380240 Mpy»KnHa ocn 1 20 70290050 Haknapgka kpensieHua ocv Kosec npasas 1
8 60220010 Laiba 2 21 70060070 KpOHLWTEMH KpbILLKK 1
9 20380060 KpbilwKa oTceka TpaBoc6OpPHUKA 1 22 60390070 MpyKMHa O0CK KPbILWKK 1
10 20110100 Hanpasnstowas Bbibpoca 1 23 60060660 Bont M6x12 2
11 20120080 Kpbilwka oTBEpCTUA 415 BbIBPOCA TPaBbl 1 24 60150080 laitka M6 2
12 70180240 Tara perynatopa BbICOTbI 1 25 70150240 3arnyLlKa 3aWwmTbl HoXa 2
13 60410080 MpyKuHa Tarn 1 26




Laampron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4630

MepenHne koneca. Hox

05 NS

\".*'\‘a_-—-",/

Ne ApTukyn HavnmeHoBaHue K-Bo Ne ApTukyn HaumeHoBaHve K-Bo
1 70840170 Ocb nepesHUX Konec 1 9 20660130 KoXyx 3alUMTHBIV peMHS 1
2 60300030 WnaunnT 1,5x25 4 10 60060180 Bont M8x30 2
3 20610080 KpbllKa BHYTPEHHAA NepegHero Koneca 2 11 60060390 Bont M8x25 1
4 20880100 Koneco nepegHee 1 12 70140400 ApanTep HoXa 1
5 20620030 Konnak nepegHero koneca 1 13 Hox 1
6 60010110 MoawwnnHuK Koneca 4 14 60200240 LLla6a KpenneHUs Hoxa 1
7 60150090 Faiika M8 4 15 60100030/ BonT KpenneHus Hoxa 1
3-8-24UNF-2A
8 Laiba 4 16




Laampron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: LM4630

TpaBoCcOOpHMK

ApTukyn HaunmeHoBaHve K-Bo ApTukyn HavnmeHoBaHue K-Bo

1 20080060 BepxHsAs YacTb TpaBOCOOPHUKA 1 3 20050080 HWKHAf YacTb TpaBocbopHMKa 1

2 21010010 CpeaHaAsA yacTb TpaBocbopHMKa 1 4 70010070 Pama TpaBocbopHMKa 1




Laampron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: LM4630
CrapTtep
Ne Ne
ApTukyn HavnmeHoBaHue K-Bo ApTukyn HavnmeHoBaHue K-Bo

1 GB6177.1-2000 lalika M6 6 5 GB6177.2-2000 laiika M14x1,5 1
2 V5-70-001-000 Kpbllwka asuratens 1 6 P-70B-07-01-000-00 CrakaH maxoBuKa 1
3 P-65-07-01-000-00 CrapTep B cbope 1 7 P-70B-07-04-000-00 KpbinbyaTka MaxoBuKa 1
4 V5-70-101-000 KpbllwKa BeHTUAATOPa 1 8 V5-7A-100-000 MaxoBuk 1




Laampron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: LM4630

A r— 14 45

38 T e 20
17

UunnmnHgp. bak
TOMJIUBHBIN.

13
14

Ne ApTukyn HaumeHoBaHve K-B: Ne ApTukyn HaumeHoBaHve K-Bo
1 V5-1B-100-000 UnnunHap 1 24 GB5789 Bont M6x22 3
2 P-65-05-06-000-00 LWnaHr canyHa 1 25 P-65-05-05-000-00 DunbTP TONAUBHDBIN 1
3 P-65-01-01-050-00 Ban perynatopa obopoTos 1 26 P-65-05-06-000-00 XomyT WwnaHra 1
4 P-65-01-01-100-00 LWaiba 6,5x15x0,5 1 27 P-70B-05-05-000-00 LnaHr TonAneHbIM 340Mm 1
5 P-65-01-01-120-00 CanbHuk Bana perynatopa 6x11x4 1 28 P-70B-01-05-060-00 [JepaTens waaHra 1
6 P-65-01-01-060-00 LnAuHT Bana 1 29 P-65-05-07-000-00 XoMyT WwnaHra 1
7 V5-10-103-000 Tara perynatopa 1 30 P-70B-03-02-000-00 Mpoknaaka Bo3ayxosoaa 1
8 P-65-01-06-010-00 MpyKuHa Tarn 1 31 V5-1A-100-000 TOpMO3HOW MexaHW3M C BblKAtouaTesiem 1
9 V5-10-004-000 Pbluar perynatopa 1 32 GB6182 Faitka M6 2
10 GB6177.1-2000 laitka M6 1 33 V5-50-002-000 KpoHwTeiH npasblit KpenneHua 6aka 1
11 P-65-01-06-040-00 Bont M6x23 1 34 V5-50-003-000 KpoHwTeiH neBsbiii KpenneHus 6aka 1
12 P-70B-01-06-000-00 KpoHwTeiH perynatopa 1 35 V5-50-004-000 KpOHLWTENH HUKHUI KpenneHua 6aka 1
13 V5-10-005-000 Mpy*uHa 1 36 GB6182 aiika M6 1
14 GB5789 Bont M6x12 6 37 V5-10-003-000 LinunbKa KpenneHua ctaptepa 1
15 V5-10-000-000 KpbllwKa canyHa 1 38 P-70B-07-07-020-00 BTynka wnuabkun 1
16 V5-10-010-000 KnanaH canyHa 1 39 V5-10-001-000 LinunbKa KpenneHusa ctaptepa 1
17 V5-10-020-000 MpoKnagKa KpbIWKK canyHa 1 40 V5-10-002-000 LWnunbka KpenneHua ctaptepa 1
18 P-65-01-01-040-00 dunbTp canyHa 1 41 GB5789 Bont M6X30 1
19 GB5789 bont M6x22 3 42 P-65-01-030-10-01 MnactuHa BO3AyXOHanpaBasaoLWwan 1
20 P-65-05-01-010-00 Mpo6ka TonnmeHoro 6aka 1 43 P-65-01-01-170-00 LWaiba 6,5x12x1 3
21 P-65-05-01-060-00 BcraBka noponoHoBasn 1 44 P-65-07-03-020-00 MarHeto 1
22 P-65-05-01-020-00 CanyH npo6ku 1 45 P-65-01-07-010-00 Mpoknaska marHeTo 1
23 P-65-05-01-030-00 Bak TonanBHbIN 1




Laampron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4630

KoneHnBan. MNMoplueHb

27 28 29
31 0

Ne ApTukyn HaunmeHoBaHve K-Bo Ne ApTukyn HaunmeHoBaHve K-Bo
1 V5-1D-100-000 Konensan 1 20 V5-1C-100-000 CanbHuK KoneHsana 25x40x7 1
2 V5-1E-100-000 LLlaTyH Komnaekt 1 21 GB5789 bont 6
3 BOANT KpbILLKK WaTyHa 2 22 P-65-01-02-070-00 LWanba 10,5x15x1,5 2
4 KpbiwkKa waTyHa 1 23 GB5787 bont M10x1,25x12 2
5 WatyH 1 24 V5-80-001-000 Tapesnka TonkaTenda KnanaHa 2
6 P-65-01-02-100-00 CanbHUK KoneHsana 1 25 V5-8A-100-000 Pacnpeagan 1
7 GB276 MNoAWwKnnHUK KoneHsana 6205 1 26 P-65-01-01-170-00 LWainba 6,5x12x1 1
8 V5-10-006-000 MopuweHb 1 27 P-65-01-02-090-00 Cronop 1
9 H1-40-003-000 Konbuo ctonopHoe nanbua 2 28 P-70B-01-02-050-00 Mnata ocu perynatopa 1
10 H1-40-002-000 MNanew nopwHa 18x54 1 29 GB5789 Bont nnatbl M6x12 1
11 P-70B-01-03-070-00 Hanpasnatowasa MacnocbemMHOro Konbua 2 30 P-65-01-02-020-00 TonkaTenb perynatopa 1
12 P-70B-01-03-060-00 Mpy>KMHa Mac10CbEMHOrO KO/bLa 1 31 P-65-01-01-060-00 Cronop ocu perynatopa 1
13 P-70B-01-03-050-00 Konbuo nopwHesoe Il 1 32 P-65-01-02-030-00 Perynatop LeHTPo6exHbIn 1
14 P-70B-01-03-040-00 Konbuo nopwHesoe | 1 33 V4-10-001-000 Ocb LeHTpo6eXHOro perynatopa 1
15 V5-10-009-000 LWanba 25,2x37x1 1 34 P-65-01-05-030-00 BTynka KpenseHna ropnoBuHbI 1
16 V5-10-007-000 MpoknagKa KapTepa 1 35 GB3452 Konbuo ynnotHutenbHoe 21x2,3 1
17 P-65-01-01-020-00 LWtnoT 8x14 1 36 P-65-01-05-000-00 FopnoBuHa macnosanuneHas 1
18 | V4-10-010-000 LWt 9x14 1 37 | GB5789 Bont M6x50 1
19 V5-10-008-000 Kpbiwka kapTepa 1 38




Laampron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4630

onoBska unnuHapa.

36 3
3
Ne ApTukyn HaunmeHoBaHve K-Bo Ne ApTukyn HaunmeHoBaHve K-Bo
1 V5-2A-100-000 lonosKa uunuHgpa 1 22 GB5789 Bont M8x50 4
2 P-70B-08-07-000-01 KnanaH BbinyckHOMN 1 23 Cseua 3aXKuraHua 1
3 P-70B-08-06-000-01 KnanaH BnyckHo# 1 24 H1-50-002-000 LLtaHra TonkaTena knanaHa 2
4 P-65-02-05-000-00 BTynka HanpaBastowan 2 25 P-70B-08-03-000-01 Hanpasnstowan wraHrv Tonkatenein 1
5 P-70B-02-04-000-01 MpoKnagKa ronoBkM UMAMHApa 1 26 P-65-02-06-000-00 Konnayek macnocbemHbii 1
6 GB900 LLinunbka KpenneHus raywutens M6x94 2 27 P-70B-08-08-000-01 Mpy*KMHa KnanaHa 2
7 P-70B-03-02-000-00 Mpoknagka noa Tennonsonatop 1 28 P-65-08-10-000-00 Cyxapb BbIMYCKHOTO KaAanaHa 1
8 P-70B-03-04-000-00 Tennownsonatop 1 29 P-65-08-09-000-00 Cyxapb BMYCKHOTO K/i1anaHa 1
9 P-70B-03-03-000-00 Mpoknagka nog kapbiopatop 1 30 P-65-08-11-000-00 KpbIlwKa cyxaps BbIMYCKHOrO KnanaHa 1
10 V5-3A-100-000 Kap6topaTtop 1 31 P-65-08-02-020-00 LLinunbka Kopombicna 1
11 P-65-03-05-000-00 MpoknagKka noa Kopnyc BO34yLWHOTO 1 32 P-65-08-02-000-00 Kopombicno knanaHa 2
dunbTpa
12 P-65-04-01-010-00 Kpbilwka Bo3ayLiHoro punstpa 1 33 P-65-08-02-030-00 laiika peryavMpoBoyHas 2
13 P-65-04-01-060-00 ®duUnbTp BO3AYLLIHBIA NOPONOHOBbIN 1 34 P-65-08-02-040-00 KoHTpraiika 2
14 P-70B-04-01-010-00 PunbTp BO3AYLWHBINA ByMaKHbIN 1 35 P-65-02-03-000-00 MpoknagKa KpbILWKK KNanaHos 2
15 GB6177.1-2000 laitka M6 2 36 P-70B-02-02-000-00 KpbllKa K1anaHoOB BHYTPEHHAA 1
16 P-65-04-01-070-00 BTynka 2 37 P-70B-02-03-000-00 KpbllwKa K1anaHoB Hapy»KHasa 1
17 P-65-04-01-030-00 Haknapgka Bo3ayxoBogaa 1 38 GB5789 Bont M6x14 4
18 P-65-04-01-020-01 Kopnyc Bo3aywHoro ¢unbTpa 1 39 P-65-06-02-000-00 Mpoknagka raywurens 1
19 P-65-05-10-030-00 XoMyT WwnaHra 2 40 V5-12C-100-000 Fnywurens 1
20 | P-65-05-10-000-00 Npaiimep 1 41 | GB6187.2 laiika M6 2
21 P-65-05-10-040-00 LLnaHr nparimepa 1 42 V5-13G-101-000 PelweTka rnywutena 3awmutHaa 1




